Trigonometry Function ldentities

Cuotient Identities

tan@ = -2iN6
cos8

cosh

mtﬂ:sinﬁ

Pythagorean ldentities
sin’8 + cos“@ =1
sec’d® -tan®8 = 1
csc’l - cot’™® =1

Cofunction Identities

- Tl' _ '|T _ .
sin|—-8)=cos0 cos|—-8) =sing
3¢ [5-¢)

tan(%—e)zmtﬁ mt[%—ﬁ) =tan@

csc(l—ﬁ)zser;ﬁ sec[l—ﬁ) = cscB
2 2
% radians = 90°
Double Angle ldentities
sin(28) = 2 sind cose
c0s(28) = cos’d - sin“8
cos(28) = 2 cos’B - 1
cos{28) = 1 - 2 sin°B

2 tanb
tan{28)= ————
(29) 1-tan’®
Sum to Product of Two Angles

Sind + sing = zsin[ﬂ'—;'i) ms(e—;t)

sing - sing = Ems(ﬁ—;t ] gim [H—i’i]
+ _ B+¢ 6-¢

cosg mscln-zccxs[ 5 )ms( 5 )

_cos = -2sin[ B8 g [ B0
COs8 - cosg = Zsm[ 5 )sm( 5 )

Reciprocal Indentities
1

Sinf = csch csch = sing
_ 1 _ 1

cosh = _SE{'.E secH = _r:nsﬂ
__ 1 I

tang = cotd cotg = tang

Even/Odd Indentities

sin{-8) = -sing cos(-8) = cos8

tan(-8) = -tanB cot(-8) = -cotd

cso(-8) = -csch sec(-8) = sech
Sum/Difference Indentities
sin{8 + ¢) = sinB cosd + cosd sing

cos(8 + §) = cosd cosd ¥ sind sing

_ fanB +tan ¢
cos(®=8) = e @n ¢

Half Angle Indentities

sinp = 1—C05(29)
2
cos20 = 1+ cgs{iﬂ}l
2. 1-cos(28)
B8 = 1 cos(20)
Product to Sum of Two Angles
EinH 5in¢ = [EEIS{H - t] _EEDS{E + ¢:|]

cos cosg = [205(0-0) + cos(B + 9]

s cos = LSn(@ ).+ sn(0 - ¢

cosd sing = 4508 * 1112- sin(& - §]]



